LIS U= Z2T0E HBF=

autac2| ofsh

Chapter 04

SEEX




IT CO®KBOOK

03 F=2M7|o] dA U ¥

\_ J




N

IT COOKBOOK

\

o3

¢+

ol

5

@)

ol

|1

e

T X

%

(I mﬂ

5 r 3

= D Bl

03 Mﬂ .__.._|

{F m._ B

Bl %

v - ®

o & Xl

i ___H_ i

~ MR

r Wz

I o IH

o N o
o nl o u




4.1 (R 249 iR

—

IT COOKBOOK

m 03] 2XM(lexical analysis)O|2t 24 T2 1M S 20| EZ(token)O|2t= 2
Moz o|n|Qle 1|40 PR Ealste AoE B2 AEY(stream)S .
B O3 EMNSlE 1 E 0% 24 7](lexical analyzer) =& A7l (scanner)2t &
. '\| EZ . M
AA T2 —n ‘ T2 2M7| }———4*
gs2gen :
p
L lsH
O 41 Off] 2472t 1E 247 (2] 4= A
m o2 EMY| 7|5
= EZZS Q14
= MK 2| 2P (preprocessing) : ZH E, white space, tab, new line, macro &= 2|

= 7|2 H(symbol table) T8
= O] XN2|of chet R
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= EZ(Token) : =810 A= HO|E 7|252 Fdel EHH2E o|0] = X4 TH
= Ij E(Pattern) : EE S A&5tE &S
= Ell A (Lexeme) : THEIO| 2|3} O & 2AHE
bl =Y HO{UM A= EES
» Special form - /anguage designer
1. X]'d{(Keyword) --- for, if, int 2 A0{0f o|d] Fo|=l THof

2. MK 7|5 (Operator symbol) --—- +, -, *, /, <, =, ++ 59| A7
T2 XtH(Delimiter) --—-;, ., (), [ ] & ErO{Qt EHo{o| LESIAL 280t EHES T+

3.
H
i

» General form - programmer

4. M X}l(identifier) --- abc, b12, sum, & Z2 127} Ho[ot= B
5. Al%=(constant) --- 526, 3.0, 0.1234e-10, 'string' 5 A4+, Y44, EXtE M4
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« <digit>z=0]1]2] ..
. Fog
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= (O 2-42 2 s

* ni = ba*po-60 + ni/ (abc + 50);
- [E0]] E2 2EE 2 O3t 20| 16712 £/ 2, =MUlZ2 EES 22|t

Al ) ni A2} ni
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m [OIX| 4-2] EZ, =4, T{E H5}7]

= [0 Al 4-110 =O{T 2&O0AM EZ, 24, T E 517

* ni = ba*po-60 + ni/ (abc + 50);

- [E0]]

= 2y I

N | A APt F2At AGH0[D S XERE= HE2Xt

AlERE ni, ba, po, abc b4t ottt
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. [OF| 4-3] E2 AEUS 2

. (O 4-112) E2 AE2S

. BIX Zt2to| E20f g £
AFg S AlEiRtol £2 3
CHe Ik 20| LiER 4 UC

©(2,1),(10,9), 2,2), 8 ), (
(4, 50), (14, ), (12, )

. (T E2 3= £2 30| 9128 Let

- HA T -

L
A
XS 2O|H, g2 EE &2 3 Akl &= 2(0|L})

!

10



E2o| QI
- £E30| 3X: Y7} BUS ABoA B
- QM| W7 EMORRE Y EHE
VS|
(@]
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digit - 0] 1]2]~9
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XFE X = X7t letterO| AL &
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cE=dE+e=d" F=dE =dd =d*
eD=dE+'+F+-G=dd"+ '+'d* + -d*

e =dt+'+d*+-dt=(e+ "+ +-)d*

e C=dC+eD + & =dC+e(e + '+ +-)d* + e
e =de(e+ '+ +-)d*+ ¢

« B = dC=dd'(e(e + '+' +-)d* +¢)

o =d*+(e(e + '+' +-) d* +¢)

«cA=dA+ B

« =d.d+(e(e + '+ +-)d* + ¢)

« S=dA

= dd". d*(e(s + "+' +-) d* +¢)
= dtd*(e(e + '+ +-)d* + g)
= d*.d*+ dt.dfe(e + '+' +-) d*

210 HOYE 7|2 +& '+'&2 H7Y|.

G = dE = dd* = d*
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= =**DbB + /)
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(1) <Sub C> = <assign-st>

(2) <assign-st> = <lhs> = <exp>;

(3) <lhs> = <variable>

(4) <exp> = <exp>+<term> | <exp>-<term> | <term>
(5) <term> = <term>*<factor> | <term>/<factor> | <factor>
(6) <factor> = <variable> | <number> | ( <exp> )

(7) <variable> ::= <ident>

(8) <ident> = (<letter> | ){<letter> | <digit> | _}

(9) <number> ::= {<digit>}

(10) <letter> == a |+ z

(11) <digit> == 0| 1|+ 9
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m 0|5 75t H 145~147 H|O|X| =21 ZHO[LC},

m X|2E ni = ba * po - 60 + ni / (abc + 50);2 AM&SH Ato|LCt,

H C:¥MindowsWsystern3 2emd axe E@g
L E USEFA T, -
ni = ba ¥ po — BW + ni ~ Cabc + 58); Ml
T4 2 ni = bha * po — BB + ni ~ Cabe + 5@);

AIAEF 2 ond i

token num : 2 3

= e

token num : 1@

LT 2 ba

tnken num :

2

LIHEE = o= HARL

tukan num * 2

Sy

token num : 2

LR 2 - AR
?

token num :

“E AR =

token num 4
LEER 2+ HAEL
token num : b
AlET

token num ! 2
AT 2 o HARLL
token num @ ¥
SIHT 2 0 AL
token num @ 13
LA L 2 abe
token num : 2
AR s 4 AR}
token num : &
ASIT} ;g

token num : 4
LTy FER
token num ! 14
AEF e PEA
token num @ 12
H=ZSHA® 0T 2L =EUAE - L.
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